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Name: __________________________________


1
The asymptote of the graph of [image: image1.png]flz) = 5Slog(x+4)



 is

	1)
	[image: image2.png]



	3)
	[image: image3.png]




	2)
	[image: image4.png]



	4)
	[image: image5.png]






2
Which statement about the graph of [image: image6.png]c(x) = loggx



 is false?

	1)
	The asymptote has equation [image: image7.png]


.
	3)
	The domain is the set of positive reals.

	2)
	The graph has no y-intercept.
	4)
	The range is the set of all real numbers.



3
Which statement below about the graph of [image: image8.png]


 is true?

	1)
	[image: image9.png]


 has a y-intercept at [image: image10.png]


.
	3)
	As [image: image11.png]x —»m, flx) > m





	2)
	[image: image12.png]


 has a y-intercept at [image: image13.png]


.
	4)
	[image: image14.png]x —»—4, flx) —co







4
If [image: image15.png]


 and [image: image16.png]a(x)



 is the image of [image: image17.png]


 after a translation five units to the left, which equation represents [image: image18.png]a(x)



?

	1)
	[image: image19.png]g(x) =logz(x+5)




	3)
	[image: image20.png]g(x) =logz(x-5)





	2)
	[image: image21.png]g(x) =logzx+5




	4)
	[image: image22.png]g(x) =logzx-5







5
The graph of [image: image23.png]logyx




 is translated to the right 1 unit and down 1 unit.  The coordinates of the x-intercept of the translated graph are 

	1)
	[image: image24.png]



	3)
	[image: image25.png]




	2)
	[image: image26.png]



	4)
	[image: image27.png]






6
Which equation best represents the graph below?

[image: image28.png]h(x)





	1)
	[image: image29.png]h(x) =logix+a)+¢




	3)
	[image: image30.png]h(x) =logix+a)-c¢





	2)
	[image: image31.png]h(x) =logix—a)+¢




	4)
	[image: image32.png]h(x) =logix—a)-«¢







7
Which sketch best represents the graph of [image: image33.png]


?

	1)
	[image: image34.png]



	3)
	[image: image35.png]




	2)
	[image: image36.png]



	4)
	[image: image37.png]






8
Which sketch could represent the function [image: image38.png]


?

	1)
	[image: image39.png]



	3)
	[image: image40.png]




	2)
	[image: image41.png]



	4)
	[image: image42.png]






9
Describe the translations that map [image: image43.png]flx) = logx



 to [image: image44.png]g(x) =logix+3)-5



.

10
Graph [image: image45.png]flx) = logy (x + 6)



 on the set of axes below.

[image: image46.png])

>x





11
On the grid below, graph the function [image: image47.png]log,(x—-3)+1




[image: image48.png]> <

>X





12
Sketch [image: image49.png]


 on the axes below.

[image: image50.png]><

> X




Describe the end behavior of [image: image51.png]pix)



 as [image: image52.png]x — -3



.  Describe the end behavior of [image: image53.png]pix)



 as [image: image54.png]X —»c0





13
Graph [image: image55.png]log,(x+3)-5



 on the set of axes below.  Use an appropriate scale to include both intercepts.

[image: image56.png]=




Describe the behavior of the given function as x approaches [image: image57.png]


 and as x approaches positive infinity.

14
Graph [image: image58.png]


, where [image: image59.png]flx)=logy(x-1)+3



 on the set of axes below.

[image: image60.png]=




State the equation of the asymptote of [image: image61.png]


.  When [image: image62.png]


 is reflected over the line [image: image63.png]


, a new function is formed:  [image: image64.png]


.  State the equation of the asymptote of [image: image65.png]a(x)



.

15
 Graph the following function on the axes below.

[image: image66.png]flx) = logz(2-x)




[image: image67.png]=






State the domain of f.  State the equation of the asymptote.
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[image: image70.png]



REF:
061927aii

11
ANS:


[image: image71.png]——
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  As [image: image73.png]y—sw



.  As [image: image74.png]X —», Y —>—C0



.
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ANS:


[image: image75.png]


  As [image: image76.png]y — -



.  As [image: image77.png]X—>m Yy —>m



.
REF:
061735aii

14
ANS:


[image: image78.png].




  [image: image79.png]
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[image: image80.png]


Domain:  [image: image81.png]x <2



, Asymptote [image: image82.png]
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[image: image83.png]



